

Relationship between alternating sums of powers of integers and sums of powers of integers

Minoru Yamamoto

Department of Mathematics, Faculty of Education, Hirosaki University

1 Bunkyo-cho, Hirosaki, Aomori, 036-8560, Japan

e-mail: minomoto@hirosaki-u.ac.jp

Received: 19 June 2025

Revised: 7 October 2025

Accepted: 28 October 2025

Online First: 3 November 2025

Abstract: In this note, we consider the alternating sums of powers of integers. We write alternating sum of powers of integers as the linear combination of sums of powers of integers. As the coefficients, the special value of the Euler polynomial appears.

Keywords: Alternating sums of powers of integers, Sums of powers of integers, Bernoulli number, Euler polynomial.

2020 Mathematics Subject Classification: 11B68, 11B83.

1 Introduction

For a non-negative integer $m \in \mathbb{Z}$ and a positive integer $n \in \mathbb{Z}$, we define

$$S_m(n) = \sum_{i=1}^n i^m, \quad \Omega_m(n) = \sum_{i=0}^{n-1} (-1)^i (n-i)^m$$

It is well known that $S_m(n)$ can be written as the polynomial of the variable n as follows (see [2], for example):

$$S_m(n) = \frac{1}{m+1} \sum_{j=0}^m \binom{m+1}{j} B_j n^{m+1-j}. \quad (1)$$



Here, B_j is the j -th Bernoulli number defined by $\sum_{j=0}^l \binom{l+1}{j} B_j = l+1$, inductively.

According to Kim [5, Theorem 1] (see also Cereceda [3, Section 4]), $\Omega_m(n)$ can be written as a polynomial of the variable n as follows:

$$\Omega_m(n) = \begin{cases} \frac{1}{2} \left(n^m - \sum_{j=1}^{m-1} \binom{m}{j} E_j(0) n^{m-j} + ((-1)^n - 1) E_m(0) \right), & \text{if } m \geq 1, \\ \frac{(1 + (-1)^{n-1})}{2}, & \text{if } m = 0. \end{cases} \quad (2)$$

Here, $E_j(x)$ is the j -th Euler polynomial defined by $\frac{2e^{xt}}{e^t + 1} = \sum_{j=0}^{\infty} E_j(x) \frac{t^j}{j!}$.

In this note, we investigate the relationship between $\Omega_m(n)$ and $S_m(n)$ and have the following theorem.

Theorem 1.1. *For positive integers $m \in \mathbb{Z}$ and $n \in \mathbb{Z}$, we have the following identity:*

$$\Omega_m(n) = - \sum_{j=0}^{m-1} \binom{m}{j} E_{m-j}(0) S_j(n) + \frac{(-1)^n - 1}{2} E_m(0).$$

In [6], we wrote $S_m(n)$ as the linear combination of $\Omega_j(n)$ (see also Theorem 3.1). Therefore, we can see that Theorem 1.1 is the converse of Theorem 3.1.

Remark 1.1. *In Theorem 2.3 of [1], Antonippillai proved the following identity:*

$$(-1)^{n+1} \Omega_m(n) = \begin{cases} \frac{n+1}{2} + \sum_{j=1}^{m-1} \binom{m}{j} 2^j S_j \left(\frac{n-1}{2} \right), & \text{if } n \geq 1 \text{ is odd,} \\ (-1)^m \frac{n}{2} + \sum_{j=1}^{m-1} (-1)^{m-j} \binom{m}{j} 2^j S_j \left(\frac{n}{2} \right), & \text{if } n \geq 0 \text{ is even.} \end{cases} \quad (3)$$

As Theorem 1.1, the identity (3) represents $\Omega_m(n)$ as the linear combination of $S_j(n)$.

This note is organized as follows. In Section 2, we prove Theorem 1.1. In Section 3, by combining Theorems 1.1 and 3.1, we state the relationships between B_k and $E_j(0)$.

2 Proof of Theorem 1.1

Both $\Omega_m(n)$ and $S_{m-1}(n)$ are degree m polynomials. On the other hand, $\Omega_m(n)$ has the constant term $\frac{(-1)^n - 1}{2} E_m(0)$ and $S_{m-1}(n)$ does not have the constant term. Therefore, we set

$$\Omega_m(n) = \sum_{j=0}^{m-1} a_j S_j(n) + \frac{(-1)^n - 1}{2} E_m(0), \quad (4)$$

where $a_j \in \mathbb{Q}$. From (4) and the definition of $S_j(n)$, we have

$$\begin{aligned}\Omega_m(n+1) - \Omega_m(n) &= a_0 + \sum_{j=1}^{m-1} a_j(n+1)^j + (-1)^{n+1} E_m(0) \\ &= \sum_{j=1}^{m-1} a_j(n+1)^j + (a_0 + (-1)^{n+1} E_m(0)).\end{aligned}\quad (5)$$

Also, from the definition of $\Omega_m(n)$,

$$\Omega_m(n+1) + \Omega_m(n) = (n+1)^m \quad (6)$$

holds if $m \geq 1$. By summing (5) and (6), we have

$$\Omega_m(n+1) = \frac{1}{2}(n+1)^m + \frac{1}{2} \sum_{j=1}^{m-1} a_j(n+1)^j + \frac{a_0 + (-1)^{n+1} E_m(0)}{2} \quad (7)$$

if $m \geq 1$. On the other hand, from (2),

$$\Omega_m(n+1) = \frac{1}{2}(n+1)^m - \frac{1}{2} \sum_{j=1}^{m-1} \binom{m}{j} E_j(0)(n+1)^{m-j} + \frac{(-1 + (-1)^{n+1}) E_m(0)}{2} \quad (8)$$

holds if $m \geq 1$. By comparing Equations (7) and (8), we obtain

$$a_j = -\binom{m}{j} E_{m-j}(0)$$

for $j = 0, \dots, m-1$. This completes the proof of Theorem 1.1. $\square$

Corollary 2.1. *For a non-negative integer $m \in \mathbb{Z}$ and a positive integer $n \in \mathbb{Z}$, the following identity holds:*

$$S_m(n) = \frac{E_{m+1}(n+1) + E_{m+1}(0)}{m+1} + \frac{2}{m+1} \sum_{j=0}^{m-1} \binom{m+1}{j} E_{m+1-j}(0) S_j(n).$$

Proof. If $m \geq 0$ and $n \geq 1$, from the identities (2) and Theorem 1.1, we have

$$\begin{aligned}-\Omega_{m+1}(n) + \frac{(-1)^n - 1}{2} E_{m+1}(0) &= -\frac{1}{2} n^{m+1} + \frac{1}{2} \sum_{j=1}^m \binom{m+1}{j} E_j(0) n^{m+1-j}, \\ -\Omega_{m+1}(n) + \frac{(-1)^n - 1}{2} E_{m+1}(0) &= \sum_{j=0}^m \binom{m+1}{j} E_{m+1-j}(0) S_j(n).\end{aligned}\quad (9)$$

From (9), we have

$$\begin{aligned}S_m(n) &= \frac{1}{m+1} \left(n^{m+1} - \sum_{j=1}^m \binom{m+1}{j} E_j(0) n^{m+1-j} \right) \\ &\quad + \frac{2}{m+1} \sum_{j=0}^{m-1} \binom{m+1}{j} E_{m+1-j}(0) S_j(n).\end{aligned}\quad (10)$$

The contents of the parentheses in the first term on the right-hand side of (10) can be transformed as follows:

$$\begin{aligned}
n^{m+1} - \sum_{j=1}^m \binom{m+1}{j} E_j(0) n^{m+1-j} &= 2n^{m+1} - \sum_{j=0}^m \binom{m+1}{j} E_j(0) n^{m+1-j} \\
&= 2n^{m+1} + E_{m+1}(0) - \sum_{j=0}^{m+1} \binom{m+1}{j} E_j(0) n^{m+1-j} \quad (11) \\
&= 2n^{m+1} + E_{m+1}(0) - E_{m+1}(n) \\
&= E_{m+1}(n+1) + E_{m+1}(0).
\end{aligned}$$

Here, the third equation of (11) uses the relationship

$$E_m(x) = \sum_{j=0}^m \binom{m}{j} E_j(0) x^{m-j}, \quad \text{if } m \geq 0.$$

It is obtained from the definition of the Euler polynomial $\frac{2e^{xt}}{e^t + 1} = \sum_{j=0}^{\infty} E_j(x) \frac{t^j}{j!}$. The fourth equation comes from the identity

$$E_{m+1}(x+1) + E_{m+1}(x) = 2x^{m+1}, \quad \text{if } m \geq 0$$

(see [4], for example). This completes the proof of Corollary 2.1. $\square$

Remark 2.1. By using (1) and Theorem 3.1, we have the following identity, which is similar to Corollary 2.1:

$$\Omega_{m+1}(n) = \frac{B_{m+1}(n+1) - B_{m+1}}{2} - \sum_{j=1}^{m-1} \binom{m+1}{j} B_{m+1-j} \Omega_j(n).$$

Here, m and n are positive integers and $B_j(x)$ is the j -th Bernoulli polynomial defined by $\frac{te^{xt}}{e^t - 1} = \sum_{j=0}^{\infty} B_j(x) \frac{t^j}{j!}$.

3 Relationships between B_k and $E_j(0)$

Relating to Theorem 1.1, the following theorem is known.

Theorem 3.1 ([6]). For a non-negative integer $m \in \mathbb{Z}$ and a positive integer $n \in \mathbb{Z}$, we have the following identity:

$$S_m(n) = \begin{cases} \frac{2}{m+1} \sum_{\substack{0 \leq j \leq m \\ j \neq 1}} \binom{m+1}{j} B_j \Omega_{m+1-j}(n), & \text{if } m \geq 1, \\ 2B_0 \Omega_1(n) - \Omega_0(n), & \text{if } m = 0. \end{cases}$$

From Theorem 1.1, if we define an $m \times m$ matrix A by

$$A = - \begin{pmatrix} \binom{m}{1} E_1(0) & 0 & \cdots & 0 & 0 & 0 \\ \binom{m}{2} E_2(0) & \binom{m-1}{1} E_1(0) & \cdots & 0 & 0 & 0 \\ \vdots & \vdots & \ddots & \vdots & \vdots & \vdots \\ \binom{m}{m-2} E_{m-2}(0) & \binom{m-1}{m-3} E_{m-3}(0) & \cdots & \binom{3}{1} E_1(0) & 0 & 0 \\ \binom{m}{m-1} E_{m-1}(0) & \binom{m-1}{m-2} E_{m-2}(0) & \cdots & \binom{3}{2} E_2(0) & \binom{2}{1} E_1(0) & 0 \\ E_m(0) & E_{m-1}(0) & \cdots & E_3(0) & E_2(0) & E_1(0) \end{pmatrix}$$

and a $1 \times m$ matrix b by

$$b = \frac{(-1)^n - 1}{2} \left(E_m(0) \ E_{m-1}(0) \ \cdots \ E_3(0) \ E_2(0) \ E_1(0) \right),$$

we have

$$\left(\Omega_m(n) \ \cdots \ \Omega_1(n) \right) = \left(S_{m-1}(n) \ \cdots \ S_0(n) \right) A + b.$$

From Theorem 3.1, if we define an $m \times m$ matrix C by

$$C = \begin{pmatrix} \frac{2}{m} B_0 & 0 & \cdots & 0 & 0 & 0 \\ 0 & \frac{2}{m-1} B_0 & \cdots & 0 & 0 & 0 \\ \frac{2}{m} \binom{m}{2} B_2 & 0 & \cdots & 0 & 0 & 0 \\ \vdots & \vdots & \ddots & \vdots & \vdots & \vdots \\ \frac{2}{m} \binom{m}{m-3} B_{m-3} & \frac{2}{m-1} \binom{m-1}{m-4} B_{m-4} & \cdots & \frac{2}{3} B_0 & 0 & 0 \\ \frac{2}{m} \binom{m}{m-2} B_{m-2} & \frac{2}{m-1} \binom{m-1}{m-3} B_{m-3} & \cdots & 0 & B_0 & 0 \\ \frac{2}{m} \binom{m}{m-1} B_{m-1} & \frac{2}{m-1} \binom{m-1}{m-2} B_{m-2} & \cdots & \frac{2}{3} \binom{3}{2} B_2 & 0 & 2B_0 \end{pmatrix}$$

and a $1 \times m$ matrix d by

$$d = \frac{(-1)^n - 1}{2} \left(0 \ 0 \ \cdots \ 0 \ 0 \ 1 \right),$$

we have

$$\left(S_{m-1}(n) \ \cdots \ S_0(n) \right) = \left(\Omega_m(n) \ \cdots \ \Omega_1(n) \right) C + d.$$

From the equation $AC = CA = I_m$, we have the following corollary. Here, I_m is the identity matrix.

Corollary 3.1. For a positive integer $m \in \mathbb{Z}$, we take positive integers $i, j \in \mathbb{Z}$ such that $1 \leq j \leq i \leq m$. Then, the following relations hold:

$$\sum_{k=j+2}^i \binom{m+1-j}{k-j} \binom{m+1-k}{i+1-k} B_{k-j} E_{i+1-k}(0) + \binom{m+1-j}{i+1-j} E_{i+1-j}(0) = -\frac{m+1-j}{2} \delta_{i,j}$$

and

$$\sum_{k=j}^{i-2} \frac{1}{m+1-k} \binom{m+1-j}{k+1-j} \binom{m+1-k}{i-k} B_{i-k} E_{k-j+1}(0) + \frac{1}{m+1-i} \binom{m+1-j}{i+1-j} E_{i+1-j}(0) = -\frac{1}{2} \delta_{i,j}.$$

Here, $\delta_{i,j}$ is the Kronecker delta.

Remark 3.1. When $j = 1$ and $i = m$, both identities in Corollary 3.1 reduce to the equation:

$$\sum_{k=1}^{m-2} \binom{m}{k} B_{m-k} E_k(0) = -E_m(0)$$

when $m \geq 2$. This equation corresponds to the case $x = 0$ of the formula (13) in [4].

4 Conclusion

In this note, we investigated the relationship between alternating sums of powers of integers and sums of powers of integers. By combining this note with previous researchs such as [1] and [4], it is expected that research on alternating sums of powers of integers and the relationship between the Bernoulli numbers and the Euler polynomials will progress further.

Acknowledgements

The author would like to express his sincere gratitude to the reviewers of this note. The author received many helpful comments from one of the reviewers. Thanks to this reviewer's suggestions, the proof of Theorem 1.1 was more concise, we could find a new identity of Corollary 2.1, and the connection between this note and previous works was made clearer.

References

- [1] Antonipillai, A. (2024). On sums of powers of integers. *Missouri Journal of Mathematical Sciences*, 36(2), 130–135.
- [2] Arakawa, T., Ibukiyama, T., & Kaneko, M. (2014). *Bernoulli Numbers and Zeta Functions*. Springer, Tokyo.

- [3] Cereceda, J. L. (2023). Euler polynomials and alternating sums of powers of integers. *International Journal of Mathematical Education in Science and Technology*, 54, 1132–1145.
- [4] Cheon, G.-S. (2003). A note on the Bernoulli and Euler polynomials. *Applied Mathematics Letters*, 16(3), 365–368.
- [5] Kim, T., Kim, Y.-H., Lee, D.-H., Park, D.-W., & Ro, Y. S. (2005). On the alternating sums of powers of consecutive integers. *Proceedings of the Jangjeon Mathematical Society*, 8(2), 175–178.
- [6] Tanaka, Y., & Yamamoto, M. (2016). Representation of triangular numbers using alternation sum of squares and dimensional generalization. *Journal of Japan Society of Mathematical Education*, 98(3), 3–10, (in Japanese).